arcsec

arcsec

ESO 238-018

10

-10

© oo
A~ O O

< 0.3

2](degrees)

o[m

O
)V

o Neo)
o

100
50

30 20  -10

0

20 30

arcsec

*

- o ]
i ' ]
L | ]
- + + o ]
L bar + i
- ’ : ) Ty E
i l -+
r ' ]
L | _|
r I ]
c : ““““““““ ]

2 4 6 8 10 12 14

Radius (arcsec)

0.70

0.52

0.35

10.17

-0.35

-0.52

-0.70

arcsec

1.0

0.8

-30 20 -10 0 10 20 30
arcsec

\ \ \ T | e

Bar only (h,= 1.0") h= 07"

i h= 10"

h= 1.7" -

rbar

0 2 4 6 8 10 12 14
Radius (arcsec)
““““ S
— L I _
o™ 80 ___J'-rb_ar_____ _____________j
£ 60
<
E 40+ -
> 20 ]

10

20

30 40

o)
o

Radius (arcsec)

Q-

Fao - -
Qhalo—corr .
b - saw

rhalo-corr .
Qb

QE - .

rbar—only .
Qb = amw
(Qbar-only)halo-corr .

b - maw

( bar—only)halo—corr .

l'ap
Qr(fyy) : 0.347 5y

Q[llalo—corr(rbar) -

e: 0.69

AT
Fpp & e

A2(rbar) : 028
AT

Vi . 65.07 2 km/s

3.6um
max

f3eum - 23.25 arcsec

Vs eum(Rop) 0 59.57 g5 km/s
drVaem(0) : 64.57 Jo km/s/kpe
Mh/M*(<Ropt) s

a:..

v -

oo * omee



